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Find m£ZYN so thatﬁi [| MN. Show your work.
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Find y so that ¢ || £ Show your work.

(y + 10y
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Sumi and Daniela are determining which lines are parallel in the figure.
Sumi says that since Zl= £2, WY || XZ. Daniela disagrees and says that
since Zl= 22, WX || YZ.

Is either of them correct? Explain.
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Converse of Corresponding Angles
Postulate

Fill in the blanks.

If two lines are cut by a|
so that corresponding angles are
congruent, then the lines are

Examples If A=/ |, 2222 2| =27,
£ =/8thena 6.
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Parallel Postulate

Fill in the blanks. Complete the model.

If given a line and a point not on the line, then there exists exactly |
line through the point that is to the given line.

o





image3.png
Proving Lines Parallel

Fill in the blanks.

Alternate Exterior Angles Converse

If two lines in a plane are cut by a transversal
so that a pair of alternate exterior angles is

, then the lines are parallel.

Consecutive Interior Angles Converse

If two lines in a plane are cut by a transversal
so that a pair of consecutive interior angles are

,then the lines are parallel.

If





image4.png
Fill in the blanks.

Alternate Interior Angles Converse
If two lines in a plane are cut by a transversal
so that a pair of alternate interior angles is

, then the lines are parallel. If , then p || 7.

Perpendicular Transversal

Converse 4
In a plane, if two lines are | 9
to the same line, then they are parallel. I then p || qi
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Given the following information, is it possible to prove that any of the
lines shown are parallel? If so, state the postulate or theorem that justifies

your answer.

a. L1=/3

b. mZIl =103 and m£4 = 100 4
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Given the following information, is it possible to
prove that any of the lines shown are parallel? If
so, state the postulate or theorem that justifies

your answer.

A £2=/8 B. Z3=/11

C. m£8+mZI3 =180 D. /8=/6




